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P5 Module: Unit Transfer Method™

Excess and Shortage

DEFINITION

Questions are similar to Case 1-Case 2 situations in the Before and After Scenarios.
They involve “If ... ; and if ...”.

LESSON 6: EXCESS AND SHORTAGE

But for Excess and Shortage Scenarios, the consequence of each case (“if” situation) is always
extras left behind (Excess = +), or
insufficient amount (Shortage 2 -).
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Mrs Tan wants to give some sweets to her pupils.
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If she were to give each pupil 7 sweets, she would need 4 more sweets.

tese - |f she were to give each’fupil 5 sweets, there would be 4 sweets left.
How many pupils were there altogether?
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P5 Module: Unit Transfer Method™

Excess and Shortage

GUIDED EXAMPLE 2

A teacher baked some cookies for his class party.

q—O
(ose | If he were to give each ¢ i‘l‘d 5 cookies, there would be 40 cg—okies left. Sut Yo
case 2 If he were to give each child 7 cookies, there would be 8 cookies left.  7u +38
u
[
a) How many chilgren were there at the class party?
b) How many cookies did the teacher bake for the party?
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P5 Module: Unit Transfer Method™ Excess and Shortage

GUIDED EXAMPLE 3

Jenny baked some cookies for her teachers during Teachers’ Day. — 126
(«s2 | |f she were to give each of t“;eum 15 cookies, she would need another 126 cookies.
tese- 2 If she were to give each of them 22 cookies, she would need another 252 cookies.
" #2u - 282
a) How many teachers were there?
b) How many cakes would each teacher get if she divided
all her cookies equally among her teachers?
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P5 Module: Unit Transfer Method™ Excess and Shortage

-X GUIDED EXAMPLE 4

A pet shop owner has(forllumber of rabbits and cages. o

cuse | If 10 rabbits are pl:ige in each cage, 4 rabbits will be left behind.
If 12 rabbits are placéd in each ca e, 1 cage will be empty.

Case 2 p 8 g* pty H(SLoH" d'F 12,
a) How many calges does the pet shop owner have? rabpits o r'd
b) How many rabbits are there?
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P5 Module: Unit Transfer Method™

Excess and Shortage

GUIDED EXAMPLE 5

(ase | R

Alice has some [Money. Ll_f she bua/s 6 skirts and 10P
(ase 2 Cf she buys 10 sklrts and 6 bléuses she will have $2
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Given that a blouse costs $65, how much does she have?
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P5 Module: Unit Transfer Method™ Excess and Shortage

GUIDED EXAMPLE 6
_ b8y + $13-60
Case | (If Carol buys 20 apples and 16 papayas, she will have $13.60 Ieft.] b3u + 13-60
cesw 2 [Ifshe buys 36 apples and 16 papayas, she will need another $5.60.1 G4 - S. 40
If ts 3 times : h le, -
apapaiya costs 3 times as much as an apfe §§.58
a) find the price of each fruit.
b) how much money does Carol have?
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P5 Module: Unit Transfer Method™ Excess and Shortage

BUILD YOUR UNDERSTANDING

1. Bala wants to give some stickers to his friends. +<
e | If he gives each of them 6 stickers, he will have 5 stickers left. ] bu t Sz D
Casa L If he gives each of them 8 stickers, he will need another 9 stlckers]_ $e -1
7 '}' —
lu  WT T - ,
a) Find the number of friends BacTa has. Els Tota|  Stikers

b) Find the number of stickers that Bala has.
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P5 Module: Unit Transfer Method™ Excess and Shortage

2.
Case |

Cust 2

b)

10

Mr Lim bought a bag of apple-flavoyred sweets for his pupils. Tota| Sueats

If he were to give each pupil 5 apglg-tﬂavoured sweets, E S -So
he would need another 50 apple-fl oured sweets.

If he were to give each pupil 10 a Ie flavoured sweets, D
he would need another 300 app.fe flavoured sweets. % (0w ~ 309

How many pu’SiIs are there?
How many apple-flavoured sweets will each pupil get if what
Mr Lim bought were to be distributed equally among his pupils?
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P5 Module: Unit Transfer Method™

b)

Excess and Shortage

Mr Lee has some marbles to give to his pupils.

+6&
If he were to give them 4 marbles each, he will have 68 marbles left. Gv 16

If he were to give them 6 marI%Ies each, he will not have any marbles left. 6u Clo)
u

|
How many pu‘foils does Mr Lee have?
How many marbles does Mr Lee have?
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P5 Module: Unit Transfer Method™ Excess and Shortage

X 4. Ali has a number of goldfishes and tanks.
s | Qf 5 goldfishes are'placed in each tank, 4 goldfls?es WI|| be left behmdj Su+t t ~

Couz 2 U6 goldfishes pIaczd in each tank, 1 tank will be emptxl Cu — b
a) How manytarlmks does Ali have? \ Shor] of 6 fch
b) How many goldfishes are there? to put twto fhe
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P5 Module: Unit Transfer Method™

Excess and Shortage

5. Richard had some mo:Pe to buy new clothes
tase| If he buys 3 Hosand 4 hirts, he wjl] have $45 left. 3u tizot4s
tese 2. However, if he buys 4 ties and 3 shlrts he will have $35 left. 4u + 90 135
Given that a shirt costs $30, find the amount of money Richard have.
e = st of [ e
4 x 30 = %0
2 X 30 = 90
4 |20 +4S = + 40 + 38
Su hu 3 l6S
3u 1 bu 4 T =
u = Yo lu=%o
2.+ 6S T 3x#o + [6S
= 285 Ans = B28s
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P5 Module: Unit Transfer Method™ Excess and Shortage

6. Tom decided to stock Up,Qf, some stationery for h_'# -},t‘,?

Actwal [ He ordered 100 bags, 260 notbooks, be had $641.5 Ieft.l — #1000 (060w + b4/.S2 K

Tf If he had bought 150 bags, 350 notebooks, he would need another SlOOOZ |SSou - |000 2
Given that each bag costs 8 times as much as a notebook,

“ luw
a) how much does éggh item cost? C)
how much money did Tom spend on all the items he ordered? /lduﬁf
S|
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= 2b.%0 Ans a) Petebol * § 335
B : 42b-80
b) [obo, = [060 x 2.35 i
= 355) b) $ 3551
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P5 Module: Unit Transfer Method™

CHALLENGE YOURSELF

(use (

she realised that she was shortlgf $3.50. — $3.50
cwse_ 2 Instead, she bought 3 burgers angl 1 drink and she had $0.50 left.

Excess and Shortage

[244

When Mary wanted to buy 3 burgers and 3 drinks,

The cost of the burger is 3 times the cost of a drink.

g |2 - 3.50

[Ow + 0-So
+3$0.50

Zu
a) What was the cost of each item drink?
b) How much did Mary have at first?
Ix3u + FXu = [
X%t |u = |0y
[2u- 350 = 0w + 0-50 e P2u 5
|2 = 0w = 3-S50 +0-5° //////4 $2.50
A = %00 [Ou fo-50 :
B : I
&) [u = 400 <2 : :
= 2.-00
3u = 3% 2.00
- 600 A“S Ol) P“'I" : $7—-00
b) bt 050 = o ¥ 200 050 Bager 4 400

= 20-50
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P5 Module: Unit Transfer Method™ Excess and Shortage

CHALLENGE YOURSELF

Sam had some money. He spent $100 on 3 books and 7 magazines.
tuse | If he were to buy 1 additional book, he would need another $4.
cse 2. However, if he were to buy another 1 magazine, he would have S6 left.

a) How much more did the book cost than the magazine?
b) Find the amount of money Sam had at first.
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